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Instructions for the Candidates
Write your roll number in the space provided on the top of this page.

2. B TYFoID wWE e:sc&aé DT3B W[ géﬁ%ﬁi LIRR0BT. 2. This paper consists of fifty mu!tiplg-choice typelof questions..
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T 2T BOCWO. AFT™ e VQBDTIVAT &, 307U, IO seal on the edge of this cover page. Do not accept a booklet
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FORT BRWSc3RoRR To¢ Bec0. @uﬁ%/%éﬁe’b@gmd’ in the booklet with the information printed on_ the
g @ﬁ 2 9T SBTHTONOR G I3 SR 553?5 23 cctvel_' page. Faul.ty booklets d_ue to .pageslquestlons
B eRTPOB P2 A ZATESE DIRA =0 1, FoeEdooR HO mnssmg or duplicate or not in serial order on_' any

- < “ other discrepancy should be got replaced immediately
BT FHIN udmomb?m%zjca‘o. © wed %Eit wg#mmﬁ by a correct booklet from the invigilator within the
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ﬁjomﬁ;}éo&)ﬁi gmwm’wesg, and (D). You have to darken the oval as indicated below on the
woszes:  (A) ‘ ®) correct response against each item.

(C) Roctna wogTmATT. Example : (A) ® O

5. B3 @3 | 89, Zeuds OMR 9030 mdehy,, B3 =33 | =3y where (C) is the correct response.

B3 R3E 1 39 wToB FIrvn Ay wwISnvRd Anusgwy, OMR wvgs | 5. Your responses to the questionsare to be indicated in the OMR

T, BomYIPUT e IR FIBY, WUZORRY TGS, Sheetkept |n5|d_e the Paper.l Booklet only. If you .ma.rk atany

00 APYRRTR IRBOOL, place other than in the ovals in the Answer Sheet, it will not be

6. OMR wu3d moecdod), Erts ARuRnes) wroasEees L.ao. evaluated. o

7. e 80w doRnd Dutods S gmsgsm. 6. Readthe |nst_ruct|ons givenin OMR caref_ully.

e ERAe o EaO) 7. Rough Work is to be done in the end of this booklet.

8.y MHIFE) WhINTRRWTOTE ey, T ewm CIRITE | g |fyou write your name or put any mark on any part of the OMR
W), BonEmes Y Bro Bek, OMR wwgd mdeh cnade Answer Sheet, except for the space allotted for the relevant
WNEY, WIET, Ve SRS LRFTINTOEED. entries, which may disclose your identity, you will render yourself

9. Toegoan BNTFeIT, SEedmN OMR €0Zs meon) Roweggort liable to disqualification. o
) o2TINSeR Ty Toew, FovReD Beor OMR &) asgonrt 9. Youhavetoreturn thetegt OMR AnswerShqetto the invigilators
S cary ot you outace he Exarinaton .

10. =oegod> Sosd, Toew, I Hysodonh Sody S¥en OMR eugd T, 10. You can take away question booklet and carbon copy of OMR
BRREOT SRR BertIm. Answer Sheet soon after the examination.

1. 2e0/3) worrmacioes® Bu® SR wwmedecnao. 11. Use only Blue/Black Ball point pen.

12. 59,2Beuc® e oan® Henef @y feh vwmtdaenmxy dFepEeand. (12, Use of any calculator or log table etc., is prohibited.
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PSYCHOLOGY
Paper -Ii

Note : This paper contains fifty (50) objective type questions. Each question carries
two (2) marks. All questions are compulsory.

1. “Flight or Fight Response” is from 5. Match List | with List Il and select the
(A) Brain correct answer using the codes given
(B) Heart below the list :
(C) Spinal cord List| List II
(D) Nerves a) Temporal Lobe 1) Broca’s Area

b) Frontal Lobe 2) Visual

2. Which of the following psychologist is ¢) Parietal Lobe 3) Wernicker's

associated with magical number ?

Area
(A) Watson d) Occipital Lobe 4) Mathematics
(B) Freud
(C) Miller Codes :
(D) Wundt a b c d
(A) 1 4 2

3. Recent memory is stored in (B) 3 1 4 2
(A) Occipital lobe (C) 4 2 1 3
(B) Hippocampus (D) 1 4 3 2

(C) Cortex

(D) Hypothalamus 6. Cognition does not deal so much with

: (A) Mind
4. Long term memory is also known as

(A) Primary memory (B) Information processing

(B) Working memory (C) Personality characteristics

(C) Secondary memory

(D) Executive memory (B) Decision making

K-1513 ©) Paper I
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7. Syntax refers to
(A) Meaning
(B) Sound
(C) Word order

(D) Mental Lexicon

8. Cronbach’s alpha reliability is

(A) The correlation of each item with the

sum of items

(B) An average of all possible split-half
reliabilities
(C) The correlation of half of the items

with the total participants

(D) Correlating two forms of tests

9. A measure which is capable of

differentiating between one group of
participants from another group of
participants on a particular construct may

have good what ?

(A) Concurrent validity
(B) Predictive validity
(C) Content validity

(D) Discriminant validity

Total Number of Pages : 24

10. Which of the following is measure of

internal consistency of a scale ?
(A) Cronbach’s alpha

(B) Correlation coefficient

(C) Partialling

(D) Test-Retest reliability

11. What is the most generic term for
describing correlational surveys and

observational studies ?

(A) Non-randomised

(B) Experiment

(C) Passive observational studies

(D) Non-manipulation studies

12. Resulting data from a test of academic
knowledge are positively skewed. This

suggests that
(A) The test was too difficult
(B) The test was too easy

(C) An unbiased estimate must be

calculated

(D) Some students benefitted from

‘hallo effect’
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13. 83 FINT RO TmET WoFR) ?
(A) BF=
(B) &=odmoss m@@égg o)
(C) T w03
(D) J’ 203

14. 3T30PERE 20wT
(A) 02T gRBESATRON BRI
(B) 23T osSRnds), R eRynd
(C) 33T yom=ne e0w)

(D) 0208 (=INT=0, BTO*
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15. T3t 89rt Sousch () Bodeanon
09 313, | 308 T3, 113 BRORTB H0
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b) =° 08N 2) wotzs
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RN (Fode3) :
a b c d
(A) 3 1 4 2
(B) 2 3 4 1
(C) 4 1 3 2
(D) 3 4 2 1
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13. Which is NOT a type of standard score ? | 16. The correct sequence for test

) A _ development is
stanine
(A) Planning, item writing, reliability,

(B) A deviation 1Q validity, preliminary administration,
(C) AT score norms, preparing mannual

(D) A “J’ score (B) Planning, item writing, preliminary
administration, reliability, validity,

norms, preparing mannual
14. Empathy involves
(C) Planning, preliminary

(A) Vibrating with other’s feelings administration, item writing,
validity, reliability, norms,
preparing mannual

(B) Approving other’s feelings
(C) Knowledge of other’s feelings S N o
(D) Planning, item writing, preliminary
(D) Reinforcing other’s feelings administration, reliability, validity,
preparing mannual, norms

15. Match List | with List Il and select the

correct answer using the codes given 17. Match List | with List Il and select the

correct answer using the code given

below the list : .
below the list.
Listl List 1l List] List Il
a) MMPI 1) Internet a) Verbal test 1) RPM
b) SVIB 2) Intelligence b) Non verbaltest 2) Otis
c) MATB 3) Personality c¢) Performance 3) WAIS
d) WAIS 4) Aptitude d) Mixed 4) Segvin form
board
Codes
Codes :
a b ¢ d a b c d
(A) 3 1 4 2 (A) 2 1 4 3
(B) 2 3 4 1 (B) 4 2 3 1
(©) 4 1 3 2 (C) 3 2 4 1
(D) 3 4 2 1 (D) 2 1 3 4
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18. iR S EmeIthm dmemd (Fo8ed )resd
09 3 | R0 B lleomdy BooDATT R0

VBT, SO, TWRE.
s sty ||
ed ed
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(A) (A)R0=(R) 288% 58, 3083 (A) 1 (R)
F2095NG

(B) (A) 023 (R) n¥o@Ee 38 02y (A) it
(R) B0033 QRT3

(C) (A =e, =33 (R) :b%f%

(D) (A)Ro¥y,, =333 (R) &g,

21. TURSE EouTOR Rodes | ERerdneRd
209 B3 | ) B3 Il emd BRoRATHR

(A) TR TN, oRSE 7O emgdﬁsg{eﬁoﬁ% =RB.
FOFFIO, TWLTOT FoOFFOO, mi' m‘i"
QOB WO a) I 1) 833 w3
(B) 20801 oS, REE F20F T, b) 2) %%
T3 FTOOETO, W03 ©) mw@w 3) &0aon
TONETO BRI
d) gecg 4) 30e3 EeerEs
(C) Rwe3s 3050, BXw0T
FIOF B0, TPTE FIOPFTO, SR (Fo3e3 ) -
Q000 WO ) ? g Z j
(D) BZe308 52036520, VORI WP, (B) 2 3 4 1
TP FTODFT0, WARTF FT0IFF0 ©) 4 3 1 2
(D) 3 4 2 1
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18. Match the List | with List Il and select the
correct answer using the code given

Total Number of Pages : 24

20. Given below are two statements :
Assertion (A) and Reason (R). Select

below the list. your answer using codes given below :
Listl List Il Assertion (A) : This mango is sour in
a) Spearman 1) Multiple taste. Therefore all the mangoes in the
intelligence basket must be sour too. This is
b) Thurstone 2) Crystalized generalisation kind of thinking.
and fluid Reason (R) : Deductive reasoningis a
intelligence process of drawing conclusion about
c) Cattell and Horn  3) Primary specific from universal.
abilities Codes :
d) Gardner 4) Two factor (A) Both (A) and (R) are true and (R) is
theory the correct reason of (A)
Codes : (B) Both (A) and (R) are true, but (R) is
a b c d not the correct explanation of (A)

(A) 3 2 1 4 (C) (A)istrue but (R) is false

(B) 4 3 2 1 (D) (A) is false but (R) is true

(C) 4 3 1 2

(D) 3 4 ) 1 21. Match List | with List Il and select the

correct answer using the code given
19. The sequence of stages of Piaget’s below The list. _
theory of cognitive development are Listl List Ii
A P fional . a) Hebb 1) Perception
(A) reopgra ional, concre e. b) Adler 2) Learning
operations, formal operations, o
. c) Gestalt 3) Striving for
sensori motor o
superiority

(B) Sensori motor, preoperational, d) Koffka 4) Cell
concrete operations, formal assembly
operations Codes :

(C) Concrete operations, formal a b c d
operations, preoperational, (A) 1 3 2 4
sensori motor (B) 5 3 4 y

(D) Formal operation, sensori motor, (C) 4 3 1 2
preoperational, concrete operations (D) 3 4 2 1

K-1513 © Paper Il




22, TuI SO ERLITOR RO [ SRR
209 3 | =02 B3 1| =) BRORITR

RO VTR, o), WRE.
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22. Match the following using correct answer

code :
Listl List I
a) Productmoment 1) Fisher
method
b) Rank difference 2) Pearson
method
c) ANOVA 3) Spearman
d) Regression 4) Galton
Codes :
a b c d
(A) 2 3 1 4
(B) 3 2 4 1
(®) 2 3 1 4
(D) 4 3 2 1

23. Given below are two statements :
Assertion (A) and Reason (R). Select
your answer using codes given below.

Assertion (A) : Information is transfer
from STMto LTM.

Reason (R) : An item’s serial position
influences its recall in list learning.

Codes :

(A) Both (A) and (R) are true and (R) is
the reason of (A)

(B) Both (A) and (R) are true but (R) is
not the correct explanation of (A)

(C) (A) istrue but (R) is false
(D) (A) is false but (R) is true

Total Number of Pages : 24

24. Creative people are very likely to
(A) Be the offsprings of creative people
(B) Be chronically depressed
(C) Have alow 1Q

(D) Be flexible in their thinking

25. Cultures have different sets of rules about
how emotions can be exhibited in public.

These are called rules.
(A) affection
(B) emotional

(C) display

(D) model

26. Which of the following is the correct order
of the structure through which light

passes after entering the eye ?
(A) Pupil, cornea, lens, retina
(B) Pupil, lens, cornea, retina
(C) Cornea, retina, pupil, lens

(D) Cornea, pupil, lens, retina

K-1513
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27. 5 3UNS IR LORRPOTIb FoBny
ROCIRT A3

(A) ©0, BT, 863, 988
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(D) 20038 %) ZEmIE
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b) 33 TRER  2) ATTO T
QIR
AETZ
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QedF oYY
B[R GIOTY
émwﬁ oplotxd]
Qe T
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28 éz?% foploixd]
QTR
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(A) 3 1 2 4
(B) 2 3 4 1
(C) 3 2 1 4
(D) 4 1 2 3



27. Write the following mental retardation

stages in correct sequence
(A) Mild, moderate, severe, profound
(B) Moderate, mild, profound, severe
(C) Mild, moderate, profound, severe

(D) Moderate, profound, mild, severe

28. The correct order of stages of substance

use are

(A) Initiation, cessation, maintainance,

relapse

(B) Initiation, maintainance, cessation,
relapse

(C) Maintainance, initiation, cessation,
relapse

(D) Initiation, cessation, relapse,

maintainance

Total Number of Pages : 24

30. Match List | with List Il and select the
correct answer using the code given

below the list.

Listl List Il

a) Errorof central 1. Giving more

tendency or less similar

rating to traits

b) Logical error 2. Occurs due
to nearness

of two traits

c) Proximity error 3. A tendency
to avoid all
extreme
judgement
and rate high
in the middle

d) Error of liniency 4. To rate the
rates too high

irrespective of

trait being
29. Concept formation involves rated
and Codes :

b d

(A) Inductive and reflective reasoning a c
(A) 3 1 2 4
(B) Abstraction and generalization B) 5 3 4 1
(C) Thinking and reasoning (C) 3 2 1 4
(D) Intelligence and creativity (D) 4 1 2 3
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31. S0008 3R T A, 293 T (A), BT

32.

(R). 31 Broes0om Boge/ Srets® W
ROCIRT LVZTRI), 03, WRE.

ROZe33, (A) : 23830D mozﬁ T2 23330
e @23 @r@jaab w@@%wd)a’bod z%%éodo
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QT BEBODEG_ NEATZ3 WEeRRR Qmode
B DQWP @owa%a &9ROT.
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31. Given below are two statements
Assertion (A) and Reason (R). Select
your answer using codes give below :

Assertion (A) : Efficacy of a therapy is
assessed by testing the participants
before and after the therapy.

Reason (R) : A correlated 1’ test will
inform whether there is a significant
change in the performance of a group.

Codes :
(A) Both (A) and (R) are true and (R) is
the correct reason of (A)
(B) Both (A) and (R) are true, but (R) is
not the correct explanation of (A)
(C) (A)istrue, but (R) is false
(D) (A) is false, but (R) is true

32. Match List | with List Il and select the

Total Number of Pages : 24
33. Which one of the following sequence is

correct ?

(A) Receptor, Action potential, Brain,
Effector

(B) Action potential, Receptor, Brain,
Effector

(C) Receptor, Brain, Action potential,
Effector

(D) Action potential, Brain, Receptor,
Effector

34. Match the causes of mental retardation
with common examples.

correct answer using the codes given Causes Examples
below : a) Genetic 1) Prematurity
Listl List 1l giti
a) Method of 1) Stimuli are condition
limits grouped into a b) Problem at 2) Down’s
pre-determined birth syndrome
number of
categories c) Problemafter 3) Environmental
b) Method of 2) Method of birth health hazards
average efror serial . d) Poverty and 4) Accidents such
exploration
c) Method of 3) Method of cultural as blow to the
constant stimuli reproduction deprivation head
d) Method of 4) Method of
category scaling  frequency Codes :
a b c d
Codes: (A) 3 2 1 4
a b c d
A) 1 5 4 3 (B) 2 1 4 3
(B) 3 4 2 1 (C) 1 3 2 4
(©) 2 3 4 1 (D) 4 3 2 1
(D) 4 2 1 3
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35. B3 00T OB YTV, AP (A)
=023 509 (R). 391 Broedtows BoBesad,
PR BOCINT VTR, HOK), =RE.
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37. R, ©02nrg WRTF, o=, TP RRVALD
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(A) 3e3 nSReE3
(B) & . &.
(C) Fees Bo®

(D) w38 edd

39. 00T TE2 TN, AP 03, (A) 0=
509 (R). 397 Broes00 Fodesne'xd L
ROOIRT LVZTR), 03 =RE.
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5069 (R) : Ted 08) €3N, 03
RBROWOT eI AT ),
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BRen (Feded ) :

(A) (A) 2y (R)RFSER 3g =3 (A) 7t
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(A) =, TOBLS (R) R003RT QESTEODE.
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(C) =m0 woxNeEsen 7 v
(D) ﬁd ST (D) (A)Zo%,, &T33 (R) 5325
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35. Given below are two statements :
Assertion (A) and Reason (R). Select
your answer using code below :

Assertion (A) : The rate of bar pressing
by rat in a skinner box increases when
it is followed by food reward.

Reason (R) : A respondent behaviour
is strengthened if it is followed by
reinforcement.

Codes :
(A) Both (A) and (R) are true and (R) is
the correct reason of (A)
(B) Both (A) and (R) are true but (R) is
not the correct explanation of (A)
(C) (A)is true, but (R) is false
(D) (A) is false, but (R) is true

36. Which of the following does not affect
eating behaviour ?

(A) Level of insulin

)

(B) Certain genes

(C) Group influence on eating
)

(D) Height

37. The striving for fulfillment of one’s
potential is called

(A) Self concept

(B) Self efficacy

(C) Self actualization
(D) The ideal self
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38. Which of the following is not a type of a

behavioural assessment ?

(A) Direct observation
(B) TAT
(C) Rating scale

(D) Frequency count

39. Given below are two statements :
Assertion (A) and Reason (R). Select

your answer using code below :

Assertion (A) : Scores on a good test do

not change over short duration.

Reason (R) : High correlation between
scores on odd and even items of a test

reflects high test validity.
Codes :

(A) Both (A) and (R) are true and (R) is
the correct reason of (A)

(B) Both (A) and (R) are true but (R) is
not the correct explanation of (A)

(C) (A)istrue, but (R) is false

(D) (A) is false, but (R) is true
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43.

Total Number of Pages : 24
55 330003 DT TFNES. AT 2T (A)
=023 59063 (R). 31 Spedtdes 730%@3553{
2R BOCERT YVZTTRY, 503, IRE.
Q88 (A) : 16 &, 5. TOBOOT
O30 3T, MOEIT AN FoTTO
VT .
0 (R) : 59,43 G300 2805° Toedes” o)
R BT, LOBNTR) TOTIEITTD.
Fnc@oned (Foded ) :
(A) (A) =25 (R) ndore &3, =02 (A) Tt
(R) R003nT L=TH
(B) (A) 323 (R) n¥c@n =3, &3 (A) 7
(R) BOCIRT QETHODY,
(C) (A) =3, =38 (R) =%,
(D) (A) =%, =33 (R) =8,
my e.-9a’>.2L dé,éd Il Brolr ERoORD &0
B9 QeRTOE EReT NI,

NTOIRENRBELOT FOOIRT YUZTHI)
©OA.

ﬁ%l aaswu
a) QA SEOIm 1) FomB[O VTOT
b) eVrdR/wELy  2) Bo0LE WHERS
QTOT
C) WAIR 3) 39% VBT
JRPEA
d o & 3. & 4) \%d&d QT
BRCTONLD :
a b c d
(A) 1 3 4 2
(B) 3 1 4 2
(C) 3 1 2 4
(D) 1 4 3 2

Paper i

(18)

K-1513




40. Given below are two statements :
Assertion (A) and Reason (R). Select
your answer using code below :

Assertion (A) : The big five factor test
measures extraversion, neuroticism,
agreeableness, conscientiousness,
openness.

Reason (R) : Openness deals with
gregariousness, activity, excitement
seeking, positive emotions.

Codes :

(A) Both (A) and (R) are true and (R) is
the correct reason of (A)

(B) Both (A) and (R) are true but (R) is
not correct reason of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

41. Given below are two statements :
Assertion (A) and Reason (R). Select
your answer using code below :
Assertion (A) : Raju is highly aggressive
because his grandfather was also
aggressive.

Reason (R) : Genes and environment
contribute to personality traits.

Codes :

(A) Both (A) and (R) are true and (R) is
the correct reason of (A)

(B) Both (A) and (R) are true but (R) is
not the correct explanation of (A)

(C) (A)istrue but (R) is false
(D) (A) is false but (R) is true
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42. Given below are two statements :
Assertion (A) and Reason (R). Select
your answer using code below :

Assertion (A) : Personality traits
measured by 16 PF are not orthogonal.

Reason (R) : Cattell used oblique
rotation to identify personality traits.

Codes :
(A) Both (A) and (R) are true and (R) is
the correct reason of (A)
(B) Both (A) and (R) are true but (R) is
not the correct explanation of (A)
(C) (A)istrue but (R) is false
(D) (A) is false but (R) is true

43. Match List | with List || and select the

correct code.
Listl List 1
a) Dyslexia 1) Communication
disorder
b) Stuttering 2) Attention deficit
disorder
c) Bulimia 3) Learning
nervosa disorder
d) ADHD 4) Eating disorder
Codes :
a b c d
(A) 1 3 4 2
(B) 3 1 4 2
(C) 3 1 2 4
(D) 1 4 3 2
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44. Arrange the following in proper

sequence.

(A) Hunger need, self-esteem, self
actualization, safety, belongingness

(B) Hunger need, safety need,
belongingness, self-esteem, self-
actualization

(C) Hunger need, belongingness,
safety need, self-esteem, self-
actualization need

(D) Hunger need, self-esteem, safety
need, belongingness and self
actualization need

45. Arrange the following in proper sequence
relating to problem solving :

(A) ldentifying the problem, defining
problem, formulating a strategy,
resource allocation, monitoring

(B) Defining problem, identifying
problem, formulating strategy,
resource allocation, monitoring

(C) Identifying the problem, formulating
strategy, defining problem, resource
allocation, monitoring

(D) Defining problem, identifying
problem, resource allocation,
formulating strategy, monitoring
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Question No. 46 10 50 :

Read the following paragraph and

answer the five questions which follow :

Motives are internal psychobiological
forces that induce particular behaviour
pattern. Motives captures the idea that
there are forces within the human
organism pushing for expression. In
some sense motives are more basic
than traits, because motives can be

seen as underlying traits.

46. Motivational forgetting is due to

(A) Emotional causes

(B) Biological causes

(C) Cultural factors

(D) Social dynamics
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47. In clinical diagnosis motives also act as
(A) Aptitude
(B) Traits
(C) Attitudes

(D) Abilities

48. Motives refer to
(A) Internal energizers
(B) Social drives
(C) Attitudes

(D) Homeostasis
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49. What condition Henry Murray stresses for

need fulfillment ?
(A) Good health
(B) Perception
(C) Learning

(D) Social situation

50. Maximisation of human potential

depends on following setting.
(A) Very high goal
(B) Moderately high goal
(C) Lower goal

(D) None of the above
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